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162 B[ 1 |53 BMES 9.09 |EZJLERS—M(A) BMEREE 1D | 1D 1Y
163 B[ 1 B [RABRZE4 6.21 |2 EH1IL 150/ ERREE 1D | 1D ° 2Y
SERICOVT, MKEEN DI BRIGEE X
64| B[ 1 B ORI 39.49 [EZILERS—b EiRES 1D | 1D ° 2Y gflj?m( DT, AR oL BREE
ERICOVT, MKEEN DO BRIGEE X
165 B[ 1 B BEZE 6.07 |[EZILERS—b EiRES 1D | 1D e | 1Y REAIRCOVT. ARSI PR
SET 3,
SERICOVT, MKEEN DO BRIGEE X
166 B 1 i uB 3.60 |HMBEERICELD EREE 1D | 1D 1D | 1D | @ AREARICOVT, ARSI PR
SET 3,
167 B 1 B Rt EIE= 18.90 |EZILER>—R(A) FREIZERTESE | 1D | 1D 1A
168 B[ 1 f=$i WCS6 6.38 |[EZILERS—MINETHR) SRS 1D | 1D 1D D| @
169 B[ 1 f=$L WCS7 7.94 |[ECIVERS—MINETHR) SRS 1D | 1D 1D D| @
7ol B[ 1 B RBRZ=E6 5.36 [EZILER>—K(B) EiRES 1D | 1D
71l B[ 1 B BEAE 139.51 |EZJLERS—N(B) IEZIYT 1D | 1D 1Y
172 B 1 HA EFF1 104.27 |EZILEKRS—N(B) EiRES 2D | 2D BUVIEENSRICRDFRBOFHES S0
173 B | 1 HA EF T2 90.74 |EZILERS—N(B) EiREE 2D | 2D BPUVIENSRICIRDFRROFHSE S0
174 B | 1 A EFF3 65.00 [EZJLERS—N(B) EIRES 2D | 2D BRPEERICFRDIFREROEFEESSO
175 B | 1 A EF T4 98.92 |EZJLERS—M(B) EIRES 2D | 2D BLEEX SRICRIFROFHEESO
176 B | 1 HHA EBF5 71.49 |EZJLERS—N(B) V=tie =] 1D | 1D ® | 1Y
1771 B | 1 HHA EE 6 14.60 [EZJLER>—K(B) V=tie =] 1D | 1D 2Y
178 B | 1 HA B} - AE A RIER T 64.04 [EZJLERS—N(B) EiREE 1D | 1D
179 B | 1 HA EDEFT1 7.21 [EZIVERS —NBAHIE) EREE 1D | 1D
180 B[ 1 HHA DB T2 18.68 [EZJLER>—KN(B) EiREE 1D | 1D 2Y
181 B | 1 +HF EVik—Jl 25.54 |EZILERS—N(B) EiRE 1D | 1D
182 B[ 1 HH WCSS8 4.14 |EZIERS—MIETER) EiRES 1D | 1D 1D 1D
183 B[ 1 A WCS9 2.98 |EZIKRS—MNIEER) EiREE 1D | 1D 1D 1D
184 B | 1 ShEE  (REEEL 13.47|EZIVERS—BMA) EiRES 1D | 1D 1Y
185 B | 1 HZhEHE  (FEER2 19.9|EZILER>—N(A) EREE 1D | 1D 1Y
186 B[ 1 ZhEHE  (EVl 3.75[RR>— b =tiE =] 1D | 1D
187 B[ 1 ZhEHE  (EV2 3.75[RR>— b V=tice =] 1D | 1D
188 B | 1 ZhEHE  (EV3 3.75(JLA91(6T) EiRES 1D | 1D °
189 B[ 1 ZEHE (EV4 3.75|RR>—hb V=ticE =] 1D | 1D °
190 B | 2 HiE 15= 16.74 |EZJVERS — M) V=ticE =] 1D | 1D ° 2Y
191 B | 2 HiE F=E 2.79 |HmAERICELD V=ticE =] 1D | 1D ID| 1D | ID| @
NMLEyD-1Zyh
192 B | 2 HiE 55F 17.95 |EZIVERS— M) V=ticE =] 1D | 1D ° 2Y
193 B | 2 HiE 65 = 17.95 |EZJVERS — M) V=ticE =] 1D | 1D ° 2Y
194 B | 2 HiE VA=ES 17.95 |EZJVERS — M) V=ticE =] 1D | 1D ° 2Y
195 B | 2 HiE 108= 18.57 |EZIVERS — M) V=ticE =] 1D | 1D ° 2Y
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196 B[ 2 aiE 118= 18.57 |EZIVERS — b(5H#E) EiREE 1D | 1D ° 2Y
971 | 2 aiE 25 37.13 [EZIVERS — b(5H4) EiREE 1D | 1D ° 2Y
198 B | 2 5 3I5E 37.13 |EZJLERS — M(5EE) EiREE 1D | 1D ° 2Y
199 B | 2 5 85=E 37.07 |EZJLERS — M(5H#E) EiREE 1D | 1D ° 2Y
2001 B | 2 5 1285= 37.14 |EZJLERS — M(5EE) EiREE 1D | 1D ° 2Y
201 R | 2 5 1385= 36.15 |EZJLERS — M(5ETE) EiREE 1D | 1D ° 2Y
202 B | 2 aiE 148 = 36.16 [EZJLERS — M(5HE) SRS 1D | 1D ° 2Y
203| B | 2 & 215 28.36 [EZJLERS — M(5HE) SRS 1D | 1D ° 2Y
204 B | 2 aiE WC(218ZEA) 3.88 [EZILERS — (5H1%) SRS 1D | 1D 1D D| @
205 12| 2 aiE 158F 36.16 [EZJLERS — M(5HE) EiREE 1D | 1D ° 2Y
206| 12| 2 & 168=F 36.16 [EZJLERS — M(5HE) SRS 1D | 1D ° 2Y
207| B[ 2 HiE 1785=F 36.16 [EZJLERS — M(GHETM) EiREE 1D | 1D ° 2Y
208| B | 2 HiE 188 = 36.16 [EZJLERS — M(GETME) EiRES 1D | 1D ° 2Y
209| B[ 2 HiE 1985 = 36.06 [EZJLERS — M(GHEITME) EiRES 1D | 1D ° 2Y
2101 B | 2 HiE 205 F 37.04 [EZJLERS — M(GETME) EiREE 1D | 1D ° 2Y
211 B | 2 HiE 225 %F 37.13 [EZJVERS — M(GETM) EiRES 1D | 1D ° 2Y
212 B | 2 HiE PN 35.52 |EZJLERS — M(5EE) EiREE 1D | 1D ° 2Y
213| B | 2 HiE SEAAPTZ=2 35.52 |EZJLERS — M(EEE) EiRES 1D | 1D ° 2Y
214 B | 2 i Hep—BsZig= 32.60 |EZJLERS — N(5EE) V=i 1D | 1D ° 2Y
215 B | 2 i JRIRAAYIRAT—331 32.16 |EZILERAAIL SRS 1D | 1D °
216 2| 2 & JRIRAIYIRT—323>2 47.69 |EZILERAAL SRS 1D | 1D °
L #fg1—7F—- .
217 B | 2 & s 38.27 |EZILERY— R 1D | 1D 1Y
5 s EZILERS—N(A) EREE o
218 B | 2 a5 PR= 17.83 [EZILERS—(A) EiREE 1D | 1D 1D 1A%
219 B | 2 & WE=E 22.49 |EZJLERS—MA) EiREE 1D | 1D 1A%
2201 B | 2 HiE HRE 10.00 |EZILERS—R(B) EREE 1D | 1D 1A%
221 B | 2 & fhR= 5.69 [EZILER>—K(A) EiRES 1D | 1D 1A%
2221 B | 2 HiE h> 7L >R — L 19.68 [EZJLER>—BN(A) EREE 1D | 1D 1Y
. |EEZAYIIL-L EZILERS —MA) .
223 | 2 & . 31.85 g V=t 1D | 1D e | 1Y
| (N EHDED) (N EHD- 254D Sl
224 B | 2 & ZHENZE 19.77 [EZILERS—N(B) EiRES 1D | 1D 2Y
2251 B | 2 HiE BRMIE 31.35 [EZILERS — R (A) TRIRR YD 1D | 1D 1Y
226 B | 2 HiE CE= 54.09 ([EZILER>—MNFHEH) V=fiE =] 1D | 1D 1A%
2271 B | 2 5E CEZAYIIL— LI\ 9.13 |[EZILRS—BM(A) EIREE 1D | 1D 1Y
228| B | 2 HiE N 2.56 |EZILERS—B(A) V=ticE =] 1D | 1D 1A
229 B | 2 aiE WCS1 1.80 |EZILERS—MNIETHER) EiRES 1D | 1D 1D ID| @
230 B | 2 & WCS2 2.12 |EDIRS—MIEER) EiRES 1D | 1D 1D ID| @
231 B | 2 & WCS3 2.45 |EZIRS—MNIEER) EiRES 1D | 1D 1D ID| @ 2Y
232 B | 2 & SK1 1.16 |ECILERS—MNIETER) EiRES 1D | 1D 1D 1Y
233 B | 2 & SK2 1.54 |EDILERS—MNIETER) EIRES 1D | 1D 1D 1Y
234 B | 2 5iE BE- T I—LA 199.88 |EZILEKRS—N(B) RS 1D | 1D ° 2Y
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No.| #R | B&/E |  EBPIRAR L SHEEHE(M) P BEERiELE T

235| B | 2 aE BohE= 13.32 [EZILER>— R (A) EiREE 1D | 1D o | 1y

236| B | 2 5 TRIREREE 41.73 | AR—YFIEMECZILRS — b EiREE 1D | 1D ° 2Y

237 B | 2 5 $hREAWC 6.27 |EZIKRS—MIEER) EiREE 1D | 1D 1D ID| @

238| B | 2 aiE REEEE 9.18 |EZILERS—M(A) EiREE 1D | 1D ® | 1y

239| B | 2 5 B\ IUNINE 18.01 |EZILERS—R(A) TR YT 1D | 1D 1A

2490 B | 2 5 TRIREE 8.08 |[EZILERS—B(A) TR YT 1D | 1D 1A

241 B | 2 aiE AIZE4-m=I1-F— 22.25 |EZJLERS—N(B) SRS 1D | 1D °

2421 B | 2 5 e 24.46 |EZJLERS — NBAIBHLE) EiRES 1D | 1D e | 1Y

2431 B | 2 aiE B 45.28 |EZIVER> —NCBZER) =tie =] 1D | 1D ID| ID| @

244 B | 2 HiE AYISW (B 1KZ=R) 1.33 [REARRICED EiREE 1D | 1D 1D| ID| @

245 1B | 2 & R 2 11.07 [EZILER>—R(A) URSEBEFESEE | 1D | 1D 1Y

246| 1B | 2 a5iE xR>E1L 10.05 [EZJLER>— R (A) URSEFBREESE | 1D | 1D 1Y

2471 B | 2 aiE WC1(58) 21.36 |EZILERS— MHLETER) SRS 1D | 1D 1D D| @

248 1B | 2 a5iE WC2(%) 18.19 [EZILRS —MIREIER) EiRES 1D | 1D 1D D| @

249 B | 2 HiE WC3(%) 24.42 ([EZIVERS—MNIRETER) EiREE 1D | 1D 1D ID| e

250 B | 2 a5iE WC4(58) 20.57 |EZILERS— MHEDER) SRS 1D | 1D 1D D| @

2511 B[ 2 HiE WC5(5%3A) 8.06 |EZILERS—MIETHR) EiREE 1D | 1D 1D ID| e

2521 B | 2 & FEEFRAWC 3.09 [ECILERS—MINETHR) SRS 1D | 1D 1D D| @

253 B | 2 a5 HWC 4.99 [EZIVERS—MIREIER) V=i 1D | 1D 1D D| @

254 B[ 2 HiE EYIALIEEE] 10.84 |EZIVERS —MIETER) EiRES 1D | 1D 1D °

2551 B[ 2 HiE EYINIEZE2 15.90 |EZIVRS —MIETER) EiRES 1D | 1D 1D °

256 B[ 2 i FIESS) 2.52 |EZILRS—B(A) V=tie =] 1D | 1D 1A%

2571 B | 2 HiE JEF T3 57.89 |EZILERS—N(B) EREE 1D | 1D °

2581 B[ 2 HiE E5 T4 65.37 |EZILERS—N(B) EREE 1D | 1D °

2591 B[ 2 HiE JEF T 5 185.82 |EZILERS—N(B) EREE 1D | 1D ° 2Y

2601 B[ 2 HiE E5 6 50.48 |EZJLERS—N(B) EREE 1D | 1D °

261 1B | 2 5E JER T 7 (RRZE X8 26.76 |EZJILERS—N(B) EREE 1D | 1D °

262 B | 2 RE BRAEGHEE 22.43 [EZJLERS—N(B) RS 1D | 1D 1Y

263| B | 2 RE FIPREE2 18.04 |EZILER>—N(B) EREE 1D | 1D 1Y

264| B | 2 RE FIERE=E] 11.25 |EZILERS—R(B) EiRES 1D | 1D 1Y

265 12 | 2 RE AR 14.68 [EZJLER>—N(B) EIRES 1D | 1D 1A%

266| 12 | 2 RE B AR =2 14.42 [EZJLERS—N(B) EIRES 1D | 1D 1A%

267 2| 2 RE BIE= 14.21 [EZILERS—M(A) EIREE 1D | 1D 1Y

268| B [ 2 RE HeEMREEL 5.18 |EZILERS—K(A) RERDYI 1D | 1D 1A

269| B[ 2 RE MR EE2 2.45 |EZILERS—BMA) RERDYI 1D | 1D 1Y

270 B | 2 RE RIMREE 104.95 |EZJLERS — M(ER) EREE 1D | 1D 1Y 2Y

271 B | 2 1&E BRERARE AV — L 25.84 |EZJILERS—BM(A) EIREE 1D | 1D 1Y 2Y

2721 B | 2 RE REEKRE 6.00 [EZILERS —M(A) EREE 1D | 1D 1Y

- FiERMESEE N R, BIRAECD
273 B | 2 il TORE 18.7 VRS A 1D | 1D 1Y
Flo R 8.75 |[ESMVERS—(B) AIRRE W THEHBRRICHDE CHE R 35
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274 B | 2 ity HHITZ 10.05 |EZILERS—B(A) RS 1D | 1D 1Y
2751 B | 2 Fla BRI—F— 20.24 |EZJLERS—B(A) Vetie =] 1D | 1D 1A%
276 B | 2 Fif BURE =/E 12.85 [EZILER>— K (A) EiREE 1D | 1D 1Y
2771l B | 2 Fla AIZ=3 1.96 |EZJLERS—B(A) etie =] 1D | 1D 1A%
278 B | 2 il AIZE1 8.97 |EZIVERS — N1 EEFSEN) EiREE 1D | 1D 1Y
279 B | 2 il BIZ=2 14.94 (EZJVERS — N(MHTa1EEF8Eh) EiREE 1D | 1D 1A
280 B | 2 i FifR—)L 18.65 |EZIVERS — MN(MiferEF8Eh) SRS 1D | 1D 1Y
281 B | 2 il Fifr= 93.35 |EZJVERS — MN(MiiferEEf8Eh) SRS 1D | 1D
282 B | 2 il FitrgatiE 16.73 [EZILER>— R (A) SRS 1D | 1D 1Y
283| B | 2 Fifi A ARG ZE 14.76 [EZILER>— R (A) etie =] 1D | 1D 1A%
284| B | 2 Fla BEAKEL 6.29 |[EZILERS—K(A) etie =] 1D | 1D 1A%
285 B | 2 Fity BiAkE1 1.50 |EZJLERS—B(A) EIRREE 1D | 1D 1Y
286| B | 2 File BEARE2 5.90 [EZILER>—K(A) =tie =] 1D | 1D 1A%
287| B | 2 File ARAkZ=2 1.50 |EZJLERS—B(A) V=tie =] 1D | 1D 1A%
288 B | 2 ity SW1 1.68 |HMBAERICLD EIRREE 1D | 1D 1D | 1D
289 B | 2 ity SW2 1.68 |HMBARICLD EIRREE 1D | 1D 1D | 1D
2901 B | 2 File BEARE3 6.18 |EZILERS—R(A) V=tie =] 1D | 1D 1A%
291 B | 2 il WCS4 2.65 [ECILERS—MINETHR) SRS 1D | 1D 1D 1D
22| B | 2 i WCS5 2.65 [ECILERS—MINETHR) V=i 1D | 1D 1D 1D
293| B | 2 il FTAIYIE T 15.82 [EZILERS—(A) SRS 1D | 1D 1A%
204 B | 2 BhK AX=ZL =LA 32.20 [AM—YA#EEEZILRS — b SRS 1D | 1D
295| 12| 2 Bhk LR 3.40 |EZILERS—N(A) BRI 1D | 1D 1A%
26| B | 2 XE fokE- TREO—7— 12.09 (EZIVERS — N(BAIBTIHER) EREE 1D | 1D ® | 1Y
297 B | 2 RE FHIRE 86.04 |EZIVERS — N(BAiBTIHEY) ARERETES | ID | 1D 1A 2Y
298| B | 2 XE TERE 17.45 |EZIVERS — NBAIBTIHER) HRERERESE | ID | 1D 1Y
299 B | 2 RE TRz 20.70 |EZJLERS — N(BAIBTIHEL) ARERETES | ID | 1D 1A
300 B[ 2 XE BmEE 11.31 |ECILERS—BM(A) RREBREESE | ID | 1D 1Y
301 B | 2 XE RUNZE 9.80 [EZILERS—MA) REBREESE | ID | 1D 1Y
302 B | 2 RE A= 4.16 |EZIVERS — NBAIBTHER) REREBRTEE | ID | 1D 1Y
303 12| 2 RE RESHE 18.61 [EZJLER>— I (A) EiRES 1D | 1D 1A% 2Y
304 B | 2 RE RAFEH=E 7.62 |EZILERS—R(A) AREBRTESE | ID | 1D 1A% 2Y
305| B[ 2 RE BIK-ARBZE(5B) 5.48 Efjt[fy_r\(A) REBREESE | ID | 1D 1Y
=
306 B | 2 XKE BA-RREE(L) 8.67 Efjt[fy_'\(p‘) MREBRITESE | ID | 1D 1A% 2Y
=
307 B | 2 RE MEEE 8.31 |EZILERS—MA) AREBRTESE | ID | 1D 1Y
308 1B | 2 RE WCS6 2.04 |EZIRS—MNIEER) EiRES 1D | 1D 1D ID| @
309 B | 2 RE WCS7 2.04 |EZIRS—MNINEER) EiRES 1D | 1D 1D ID| @
3101 B[ 2 XKE KEAYIE T 26.46 [EZJLERS—N(B) V=ticE =] 1D | 1D 1Y
311| B | 2 | BIEFER)|[HAEEE 549.33 | AR—YF#MEC IR — b EiREE 1D | 1D 2Y
312| B | 2 |BEUAEE) fT_ﬁﬁEX/TT/X:FW —  |ETLERY—NA) BIERYT 1D | 1D 1y oY
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313 1B | 2 | BE(KEE) | BXE 16.42 [EZILERS— K (A) RFERIYT 1D | 1D

314| R | 2 | EBEMAER)|ABSESEL-2 33.71 [EZILERS—R(A) HRFERAY D 1D | 1D

315| B | 2 | BEMKERE) |[ABEWC(L) 11.79 ([EZIVERS—RIREIER) EiREE 1D | 1D 1D 1D

316 | B | 2 | BE(AERE)|[ABEWCE) 10.50 [EZIVERS—RIREIER) EiREE 1D | 1D 1D 1D

3171 B | 2 HH E 133.97 |EZJILKRS—N(B) EIREE 1D | 1D

318| B | 2 HA JEF T2 119.37 |EZILRS—N(B) etie =] 1D | 1D ® | 1Y

319 B | 2 A VR 1. 20— 151.31 |EZJLERS—N(B) EIRES 1D | 1D 1Y

3201 B[ 2 HHA FEDER T3 23.61 |EZJLERS—N(B) =tie =] 1D | 1D 2Y

321 B | 2 HHA EViR—) 18.32 [EZILER>— N (B) =tie =] 1D | 1D

322 B | 2 HhEHE  |BEEEL 18.27 [EZILER>—K(A) EiREE 1D | 1D 1Y

323 B | 2 HhEhE  [FEER2 19.20 [EZILER>—R(A) SRS 1D | 1D 1Y

324 B[ 3 EE EB 49.00 |EZIVERS—b Ve =] 1D | 1D ° 2Y

325 B | 3 E35) 30> 19.95 |EZIVERS— b Ve <=1 1D | 1D ° 1Y 2Y

326| B | 3 E35 EFRE=E 14.58 [EZILERS—N(A) EiRES 1D | 1D 1Y 2Y

3271 B | 3 E35 PEEIRE 16.03 |EZIVERS — M(HPiR) SRS 1D | 1D 1Y

328 B | 3 E35] EREAEL 3.33 [ECIVRS—b EiREE 1D | 1D 1Y

329 B | 3 E35] EREAKE2 3.70 [ECIVRS—b EIREE 1D | 1D 1Y

330 B | 3 EE YE=E1 7.04 |EZIERS - e =] 1D | 1D ° 1Y

331 B | 3 EE LYEE?2 6.86 |EZJILERS—b e =] 1D | 1D ° 1Y

332| B | 3 ER UB(HEZE1A) 2.64 |HmERICELD V=tie =] 1D | 1D iD| ID| @

333| B | 3 ER UB(HEZE2A) 2.64 | HmERICELD V=tie =] 1D | 1D ID| ID| @

334| B | 3 IR [HB#EL 18.37 |h—~Rvh EIREE 1D 1y | 2y

335| 1B | 3 HEFKZE  [HER=E?2 16.22 [EZILERS—b EiREE 1D | 1D 1Y 2Y
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